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1

l—  UMA SH7045  —
— byJMatsuura ————

1/
14

/132bit RISC CPU SH7045F 256K Flash RAM 1Mbit(128K) 28MHz

/I
14

Hinclud files

1/
14

#include "7045.n"
#include "messc"

/' From Besttechnology CD-ROM
I From Besttechnology CD-ROM

#include <fastmath.h> /<math.h>

1/
14

/l

#define RLO 2150
#define RL1 2370
#define RL2 2600
#define RL3 2020
#define RL4 2300
#define RL5 2450

#define RAO 2000
#define RA1 2000

#define LLO2350
#define LL1 2650
#define LL2 2470
#define LL32210

/A

/A

/A



#oefine LL4 2430
#oefine LL52480

#0efineLAO2000 //
#define LA1 2000

/.

1

/A

1/
14

iNntim5ms;  //5msec counter
inttd;  //5msec counter
inttimlsec; // 1sec counter
I
intlife]; /#
intlaf2];
intd[e];, 7/
intraf2];

1/
14

/A

/.

void stand(
inti;
/A
NOFLLO N -LLLNZ2IFLL2NBFLL3 4L LA I[B-LLS;
A[0]FRLOH[1FRLLARIFRL2ABFRL3A[4]-RL4A[5}RLS;

la[0]FLAG;la[1]-LAL;
ra0l=RAC;ra[1]=RAL;

PADRWORDH=0x0040; /  on
}

/.

1

/A

1/
14

void port_init(void)

1/
14




/A

1/
14

PFC.PAIORHWORD=0x0060; /[OUTJPA21,22
PFCPECRLWORD=0x5555; //MTU mode
PFCPECR2WORD=0x5555; //MTU mode
PFC.PEIORWORD=0xffff;, //
PFCPDCRH2WORD=0x0; // /O mode
PFC.PDIORHWORD=0x00ff. //[OUT]PD16-23

/i void
WDTWRITE.TCSR =0xa53d; // clock/1024 9.2ms
INTC.IPRH.WORD =0xf000; /WDT =15

SetSRReg (0); I
}

1/
14

IIPWM

1/
14

void pwm(void){

I Timer stop
MTUTSTRBYTE=; IIPWM Timer stop

I
PWM.TOER.BYTE=0xf;

I TimerO set
MTUOTCRBYTE=0x02;, /
MTUO.TMDR.BYTE=0xc0;
MTUO.TIOR WORD=0x5555;
MTUO.TGRA=II[O];
MTUO.TGRB=II[1];
MTUO.TGRC=II[Z;
MTUO.TGRD=II[3];

I Timerl set
MTULTCRBYTE=0x02;
MTULTMDR.BYTE=0xc0;
MTULTIORBYTE=0x55;
MTULTGRA=II[4];
MTULTGRBHAIG];



/' Timer2 set
MTU2TCRBYTE=0x02;
MTU2TMDR BY TE=0xc0;
MTU2TIOR BYTE=0X55;
MTU2 TGRA=H[C];
MTU2.TGRB=rI[1];

I Timer 3set
PWM.TCR3BYTE=0x02;
PWM.TMDR3BYTE=0x00;
PWM.TIOR3WORD=0x5555;
PWM.TGR3A=1[Z];
PWM.TGR3B=ra[0];
PWM.TGR3C=ra[1];
PWM.TGR3D=[3];

I Timer4 set
PWM.TCR4BYTE=0x02;
PWM.TMDR4.BYTE=0x00,;
PWM.TIOR4AWORD=0x5555;
PWM.TGR4A=1[4];
PWM.TGRAB=r[5];
PWM.TGRAC=Ia[0];
PWM.TGRAD=Ia[1];

I
MTUO.TCNT=0;
MTULTCNT=0;
MTU2TCNT=0;
PWM.TCNT3=0;
PWM.TCNT4=0;

I Timer start

MTU.TSTRBIT.CSTC=],
MTU.TSTRBIT.CST1-],
MTU.TSTRBIT.CST2=],
MTU.TSTRBIT.CST3=],
MTU.TSTRBIT.CST4=],

}

/.

/' MTU channelO start
/' MTU channell start
/' MTU channel2 start
/' MTU channel3 start
/IMTU channel4 start

1



' WDT-ITI
I
I
void int_iti(void)
char g
WDTWRITE.TCSR=0x5a26; // TCNT=117=0x75 5msec maxFF=9.4msec
a=WDT.READ.TCSRBYTE; /OVF
WDTWRITETCSR=0xa53d; / TCSR
I
IIPWM
I
pwm();
[ a—
I
[ a—
timbSms++oG+H //5msec
11200
if (im5ms>20) tim1sec++; tim5ms=0; } else{}
}

/.

1

/A

1/
14

int main(void){
stand(); /)
port init); /
pwm(); IPWM
InitSCI1 (br57600); / (scn 57600[bps]

intswi4]={1.444};

iNtss1xxi;

floatv,

double ran,11,12,13,51,52,53 stds,al bt X[4],yi4].yy.yd highvp xifyif.ab,cpai=3.1415926 rad;
11=6.8,12=6.8;13=3.0;//x=1.44;y=1.63;

st=0.0;



rad=pai/180.0;
x[0]=16.2,y[0]=30;
X[1F16.2y[1]=10;
X[2[F16.2y[2]=-30;
X[3|=16.2y{3]=1.0;

v=0.1;

high=13.8;
INp=(6.0+(16.2-high)*2.0))/6.0;
Vp=1.8;

la=0; b=0; c=0; ds=0; al-0; bt=0; s1-0; s2=0; S3-0;
I

while(L{

Tor(i=0;i<=3;i++}

eMI=1p1]-=*vp);
i(il<=high) {qi=highisw{i-}
}

else iflswil=2}y[i=yl1-(*vp);
iy[1<=-3.0) Yl1=30si}++}
}

else fSWIF=3YX{IH+=(v*vp);
ifi>=16.2) Xi]=16.2,5Mi]++}
}

else ifsw{il=Axyli+=\/3.0);
ifyi>=3.0) Mil=3.0;sWi[=1}
}

I

ya=yiil

=1 | | ==3)yd=i];
b=x{i}-13*cos(st*rad);
a=ydH3*sin(st*rad);
c=sgrt@*a+o*b);

ds=atan(a/);
al=acos((I1*11+c*c12*2)(2*11%c));



bt=acos((I1*11-c*cH2*12)(2*11*12));

ifi—1 | | =2

sl=dsl;

s2=-{pt-pai)}

=0 | 1 =3}

sl=ds+al,

s2=(bt-pai)}

S3=(st*rad)-s1-s2;

s1=s1/pai*180; s2=s2/pai*180; s3=s3/pai*180;

ifi—0){s1=s1*1000.0/60.0+2480.0;52=s2*1000.0/60.0+2480.0;53=s3*1000.0/60.0+2700.0;
A[0}=sL; A[1}=s2; r[2]-s3}

ifi—1){s1=s1*1000.0/60.0+2480.0;52=s2*1000.0/60.0+2480.0;53=s3*1000.0/60.0+2280.0;
[0}=s1; l[1)=s2; lI[2]=s3}

ifi—2){s1=s1*1000.0/60.0+2380.0;52=s2*1000.0/60.0+2480.0;53=s3*1000.0/60.0+2700.0;
A[3}=s1; r[4]=s2; r[5]=s3}

if(i—3){s1=s1*1000.0/60.0+2350.0;52=s2*1000.0/60.0+2570.0;53=s3*1000.0/60.0+2480.0;
[3}=s1; lI[4)=s2; lI[5)=s3}

xx=floor(x]0]*100.0);yy=floor(y{0[*100.0);

SendMessagel (=%ed y=%d H[01=%d \r"' xx,yy,H[O]);

/A



